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EXPERIMANTAL STUDY OF BUCKLING-RESTRAINED BRACES

INTRODUCTION
Buckling-restrained brace (BRB) exhibit 
excellent cyclic-loading performance and 
energy dissipation capacity. 

A total of 72 BRB specimens have been tested 
so far. 

TEST PARAMETERS
・Section size
・Slenderness ratio λ
・Buckling restraint index PE/Py (PE: Euler’s 
critical load of restrained part, Py: yield load)

In some specimens, strain gauges were placed 
along the steel core to measure curvature 
distribution.
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TEST RESULTS

Typical specimens : (a) Perspective ; (b) Section ; (c) 
Top view ; (d) Side view
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Observation of disassembled BRB : (a) Surface of upper mortar ; 
(b) Surface of steel core ; (c) Side view of steel core ; (d) Surface of 

lower mortar ;  (e) Mortar failure near end ; (f) Deformation 
concentration of steel core
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Diagram for the cumulative 
plastic strain energy ratio
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Correlation between overstrength Pc/Py and 
buckling mode number M established from 

curvature distribution

Correlation between cumulative plastic strain 
energy ratio ω and buckling-restraint index PE/Py
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Overstrength by a contact between 

test equipments
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